69-1510TC

HONDA
2022 Civic
L4-2.0

PARTS LIST:
Description Qty. Part# Description Qty. Part# Description Qty. Part#

A HOSE CLAMP; #40 1 08554 G HOSE;HUMP 3" T0O 2.75'L 1 08421 M NUT; M6 HEX 3 444.460.04
B HOSE; ADAPTER 2.5/ 2.75 1 5256 BOLT: M6 X 1 X 16MM 2 07730 N MOUNT, RUBBER 1” X 6MM 3 1228599

C  HOSE CLAMP; #48 1 08601 [ WASHER; M6 SPLIT LOCK 2 1-3025 O  EXTENSION HARNESS 1 21784

D  GROMMET: 3/8”ID X 7/8” 1 08283 J WASHER; 6MM FLAT 2 08269 P ADAPTER; FILTER, 30D 1 21569

E  INTAKE TUBE; 2.75"0D X 15’L 1 25881C K HEAT SHIELD 1 074555 Q  HOSE CLAMP; #88 1 KITHSS88

F HOSE CLAMP; #44 STAINLESS 2 08560 L EDGE TRIM; 23"L 1 102495 R AIRFILTER 1 RU-5147



